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 %��� �%��!�� �-9801�� �����   *�+ 1��	�� ���,2�� �� ����  $����� 3-�#����� 

�	����      &���2�� *2	� %��!2�� �� ����� �%�2��	 4���� 5��� *�+ �"6� 5'� �(�  &������ 7�- 4��� ���� 8)��� �- �  *�9 ��,2-:�
 8��� &�	��� 3-�����1.5 ����������� 1�� %��!�� ��	�� �- .#��� <��� 7���2 %��!�� %��2(�  �� �=���&������ #����� ����>� �+ 

5�����&���?� &�=���>� #��(@� ��  : ��
��� &��� �� 1��,2������� �	��� #���� 3-���� 4� �� &	��� $��� *�+ ����	� : 
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   �� B2    �� ������� &=���� C�� 8�����  %�!2006    �� *�9 45.3 %  ����@�   �-  &��������� �'��@�  8�
� � 1�22  #��   :9 ��	� 
��2 ��5BB� ��BB� 8���2BB� 8�
� BB�� $�BB( &,��BB� �E�BB0�� F�BB	9 1�BB�  *BB�34.7 % �BB-&���BBG�� &�'BB��1BB��,� � 

66.0%    �B-    H�BI J�B�) .    �� 2 <��
8�����   C����   �� *�958.4 %  ����@�       &��������� �'��@� �- &��'	�� 8�!��2�� �-
 1��,� �	� #�� &
� � &��2�3.5 %� &������ 8�!��2�� �- ��@� ��74.2 %8���0��� �- ��@� ��. 

  
   %�02�B247.6%   �� @���   �-  &��������� �'��@�      &���!�� ��(��� �� /�02�� &����2�� H��	      *�9 &����� $�( 5�2�2� �85.3 %

   �B-   &����B�� 8�!��2B��   1��,� �24.1 %  �-8���0���� ��
    %�02�2� 6.4%   �� ��@�   �-  &��������� �'��@�  ���� H��	  ���- �
 %�02�20.7% �� ��@� E�0� &���� �!�� $����� �� /�02��&��. 
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 �2�� &��������� �'��@� �- ��@� &��� �� *�9 %�!�� K��� C���� 8����� 8�� � �B�

     ������ �� &����B2�:�16.6 %    &����� 8G�� ���-8.5 %        E�2���� K�� *�+ H��	��� �=��� ����� ��
 �2�� ��?�  .  &����� 8G���

31.9 %�2�� ��?� �� 1)� �=���� H��	�� ��� &-����� 8G�� 15�2� . 
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 $������ 1�2� ��I M�	�� ����� �-�2 �2�� ��@� &���4.1.% 
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     =���� C�� �B��,2 �Q�B��� ������� & %�!�  2006     '��@� �- ��@� &��� �� �          8G�� �) H������ 4� �� $��� H��� %�,2 �2�� &��������� 
50.6 %   1B��,�23.1 %              $����� H��� #�2 �2�� H�I J��) �- ��@� &��� 8!�2�� ����� �&=����� $����� H��� 8��� �B�@� �B�

 2� &=�����   �	� R��55.6 %    1��,� ��@� ��4.5 %H������ $����� H��� #�2 �,- ��@� �� . J��) �- $����� 5)�� K
!2 S=�2��� $�(�
           7�
� B� �B0� 8B��
 ��B�� H�BI       ����� %� &������ &��,�� 8��' �2�� &�=���� &"��
�� �2��   ����	 ����,�  5000  ����,� �����            

   �B-250  �:�B��  F�	 �   4����          H�I J��) 1��  ��(: 8�� H��� �- ������� �=���� ���� ���� *�9    #���� M��	� ������   �	���
��������� 1���� $��2 &���!�� $����� 3-�2� .12) �- 4��2 ��� &��0 /�0 � *�9 &-�'>�� 35 ����2� ����� 250 &��
� H�	�. 
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      %�!�� $����� &��� 8����� 8�� �2006    �� *�9    ������ &	�2��� $����� &��
      8G�� &��������� �'��@� �- 319.1  % ����� 3    8G�� ���-
     $����� &
�  �� H��2 B��� $��B��� &�B�
&���=���>�) 8��
�� (������� %��02�N� 43.9% ����� 3/&���� 8G��� ���� &��
 H������ $�

   �B������ J�B�,�� 160.2% ����� 3/&���� ������� J��,�� H������ $����� �� ��������� ����� &�	 8G��� 120.6 �2�/��-/%�� ���)� 
             ����	 ����� &�	 8G�� F�B	 K���B� &B.-�	�� ��B
50.1 �2�/��-/%��  .       ������� &=���� C�� 8����� �� 2� ��
2006            *�9 
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